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* algorithme : permet de définir ou de donner le nom a I’algorithme.
= début : marque le commencement de I’algorithme.

= fin : marque la fin de l'algorithme.
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5 REM Euclid’s algorithm for greatest common divisor
6 PRINT “Type two integers greater than 0”

10 INPUT A, B

20 IF B=0 THEN GOTO 80

30 IFA>B THEN GOTO 60

40 LET B=B-A

50 GOTO 20

60 LET A=A-B

70 GOTO 20

80 PRINT A

90 END
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If there are no numbers in the set then there is no highest number.
Assume the first number in the set is the largest number in the set.

For each remaining number in the set: if this number is larger than the current largest
number, consider this number to be the largest number in the set.
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When there are no numbers left in the set to iterate over, consider the current largest
number to be the largest number of the set.
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Algorithm LargestNumber

Input: A list of numbers L.
Output: The largest number in the list L.
if L.size = 0 return null
largest < L[0]
for each itemin L, do

if item > largest, then

largest «— item

return largest

Ol il ¥ Sl e
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